DELUXE BUILDING PRODUCTS

New Strut Products Available!

DELUXE BUILDING PRODUCTS
1350 E. Lexington Ave, Pomona, CA 91766

phone: (909) 993-5700
web: deluxebuildingproducts.com

DBP 0724




DELUXE BUILD

ING PRODUCTS

STRUT CHANNELS AND ACCESSORIES

DELUXE Pre-Galvanized Deep Strut w/ Holes

DLX.1625HDSH.325.12.10  31/4” Deep 12ga
DLX.1625HDSH.1625.12.10 15/8” Deep 12ga

RS DLX.1625HDSH.325.14.10 3 1/4” Deep 14ga
\‘ DLX.1625HDSH.1625.14.10 15/8” Deep 14ga

* AVAILABLE IN 10’ & 20’ LENGTHS e ALSO AVAILABLE IN SOLID
\ J

DELUXE Pre-Galvanized Shallow Strut w/ Holes

DLX.1625HDSH.875.12.10
DLX.1625HDSH.8125.12.10 13/16” Shallow 12ga

7/8” Shallow  12ga

» ‘ ~ DLX.1625HDSH.875.14.10  7/8” Shallow  14ga
Y » ‘ DLX.1625HDSH.8125.14.10 13/16” Shallow 14ga

* AVAILABLE IN 10’ & 20’ LENGTHS e ALSO AVAILABLE IN SOLID

DELUXE Pre-Galvanized Back to Back Welded Strut

DLX.1625HDSHB2B.325.12.10 31/4” Deep 12ga
DLX.1625HDSHB2B.1625.12.10 1 5/8” Deep 12ga
DLX.1625HDSHB2B.875.12.10  7/8” Shallow 12ga
DLX.1625HDSHB2B.8125.12.10 ~ 13/16” Shallow 12ga
DLX.1625HDSHB2B.325.14.10 31/4” Deep 14ga
DLX.1625HDSHB2B.1625.14.10 1 5/8” Deep 14ga
DLX.1625HDSHB2B.875.14.10  7/8” Shallow 14ga
DLX.1625HDSHB2B.8125.14.10  13/16” Shallow 14ga
* AVAILABLE IN 10’ & 20’ LENGTHS e ALSO AVAILABLE IN SOLID

DELUXE Pre-Galvanized Mini Strut Channel

13 /16” Mini Strut
13 /32” Mini Strut

DLX.8125.6000.8125.19.10
DLX.8125.7000.4062.19.10

19ga
19ga

* AVAILABLE IN 10’ LENGTHS
N J

Galvanized Rod Coupler

%\ 3626.05 1/2” Threaded Rod x 10’ Long % 3628.05 1/2” Rod Coupler
Y %” 3626.0375  3/8” Threaded Rod x 10’ Long y w«‘}@ € 3628.0375  3/8” Rod Coupler
%@4% -
J N J

Cushioned Strut Clamp

3631.0375 3/8” Clamp  3631.075  3/4” Clamp 3630.0375 3/8” Clamp ~ 3630.075  3/4” Clamp
3631.05  1/2” Clamp  3631.0875 7/8” Clamp ( 3630.05  1/2” Clamp ~ 3630.0875 7/8” Clamp
3631.0625 5/8” Clamp  3631.1125 1-1/8” Clamp \ !-, &“[1 3630.0625 5/8” Clamp ~ 3630.1125 1-1/8” Clamp

J S mEm)

Channel Nut & Spring

Vf 3634.0375  3/8” Channel Nut w/ Spring 3636.0375 3/8” Square Washer
= 3634.05  1/2” Channel Nut w/ Spring 3636.05  1/2" Square Washer '
3638.01875 1-7/8” x 2" Corner Angle Bracket
o J N\ J

Hex Head Lag Bolt

3640.037502  3/8” x 2” Hex Head Lag Bolt
3640.037503  3/8” x 3” Hex Head Lag Bolt

3642.0375B  3/8” Bottom Mount Rod Hanger
3642.0375S  3/8” Side Mount Rod Hanger

. CONING SOON

\ /

3646.0375  3/8” KEP Nut P
3646.05  1/2” KEP Nut Wt
3644.0375  3/8” Hex Nut ! @}8
364405  3/8” Hex Nut e

Zinc Fender Washer

=

CLoN 3648.0375 3/8” Fender Washer
@’%J 3648.05 1/2” Fender Washer

COMING SOON
J

-~

DELUXE BUILDING PRODUCTS (909)993-5700

www.deluxebuildingproducts.com



